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Corolário 40

f (n) satisfaz RLH cujo PC é F s(n) =
n∑

i=0

f (i)

s(n) satisfaz RLH cujo PC é (X − 1)F

Demonstração.

s(n) =
n∑

i=0

f (i) =
n−1∑
i=0

f (i) + f (n) = s(n − 1) + f (n)

s(n) satisfaz a RLnH s(n) = s(n − 1) + f (n) cujo PC é (X − 1)F (T. 37)
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Corolário 40

f (n) satisfaz RLH cujo PC é F s(n) =
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Demonstração.

s(n) =
n∑

i=0

f (i) =
n−1∑
i=0

f (i) + f (n)

= s(n − 1) + f (n)

s(n) satisfaz a RLnH s(n) = s(n − 1) + f (n) cujo PC é (X − 1)F (T. 37)
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n∑

i=0

f (i)

s(n) satisfaz RLH cujo PC é (X − 1)F
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